NAME ‘ DATE

C mUIaﬁve ReVieW (Chapters 1-6)

rite the expression 2 - r - r - s - s using exponents.

valuate 2xy — y?ifx = 6and y = 12.
. Bimplify 3(a + 2b).
{ 4. Bimplify 4m? + 2n + p® + 3m>

5. Write as an equation: twice ¢ decreased by the cube of v
equals u.

6. Graph {..., 3, 4, 5} on a number line.

Find each sum or difference.
7. a + (-31) ifa = -5

9. -32 - (-84)

Simplify.
@ @y + y) — 64y + 3y)
L}

—

Solve each equation.
12. 13— m = 21

3 2
13. Zx _E

—5=7y+6

@Find three consecutive even integers whose sum is 132.

Solve each inequality.
5 11

L r+s <=
16. r 5 <o .

@a— 10 = —11a — 42
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NAME

Cumulative Review (Chapters 1-6)

18. Write the compound sentence x < 2 and x > —3
without and.

@ Solve the open sentence 12n — 6| > 8.

Graph the solution set of the inequality in
Exercise 19.

21. Stephanie bought between 2 and 6 bags of potting
soil for her plants. The soil cost $2.79 a bag. What
was the total cost of the potting soil?

@Simplify (2a2b)(3ab").
'mpli.fy (—2x2y3)*

o — -2
3
) 17
.

3.6 x 107* i e
ig—m(ﬁ' Express the result in scientific

26. Ten years ago, Phil was 5 years old. In 5 years,
Phil will be twice as old as Tyrone. Tyrone is
four years younger than Bernardo. How old
is Bernardo now?

27. If y varies inversely as x and x = 15 when y =38,
find x when y = 12.

@rind the sum (4x% — 2x + 3) + (6x2 + x — 2).
f@impnfy 5(2y% + 3y — 2) — 8(3y? + 4y — 2).

@0y Find (@ + 6)a - 5).
(@Find (Bx + 2y)%
olve 6r— Q2r+4) =12

3.) Tracey Tierney invested $6,000 for one year, part
at 10% annual interest and the balance at 13%
annual interest. Her total interest for the year was
$712.50. How much money did she invest at each
rate?
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